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ok

11. o= Ido] 449 dele =7 +

29

@ 24cm? @ 24+2cm?
@24 3cm? @ 48cm?
® 48V2cm?

B
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J9d], AAMC = % AABC o|E &2

AAMC = % X 6 V3 = 3V3(cm?) o|tt,




18. o& 183} 7*01 FG = = A D
5cm, (CFG = 60° ¢l 2S&HAA 7} Q. |
o Hsene] sy |
B E C
60" |/ oem
4em” G
3 80 4 3
@ 80cm @) ?cm ® 120cm
@80x/§cm3 ® 160 cm?

21| 9] £0]E 4 - tan60° = 4 V3(cm)
kA 2 A 9] Hul=
4x5x 43 =80V3(cm?)




19.

Tk 13 o] A9 o7t 20em o F7H
9\1]\‘:]- /AOB = 30° & Q] HH ] 17]_ A _%_ 7]
o2 9 em o] golof YA Fo?

@(20—10\5) cm @ (20-10V2) em
® (20-5V3) cm @ (20 - V30 cm
® 5 cm

~&B

th 1A 8k ol AH olth
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